Name:

/Y : )
\Volume of a Cylmderj

53cm

A=3.14 x 22
A=3.14x4
A=1256cm?

A cylinder has a circular base. Use A= rnr?to find the
2¢em area of the base.

The volume of the cylinder is equal to its base area

fimes its height.
N 9

V=1256cm? x 53cm

V=66.57 cm?
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Please log in to download
the printable version of this worksheet.
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ANSWER KEY

/Y : )
\Volume of a Cylmderj

A cylinder has a circular base. Use A= rnr? to find the
area of the base.

5.3cm

A=3.14 x 22
A=3.14x4
A=1256 cm?

The volume of the cylinder is equal to its base area
times its height.

V=1256cm? x 53cm
V=66.57cm?

Preview

Please log in to download
the printable version of this worksheet.
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